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BIER KER#EL B XA S EE 1 (C12)BHE ERET £

£ L3 B - BIKTE Bifr B 2 B @ * & W=
B[R 11,375,000 + 239, 358 11,614, 358
EEAGE 11,375, 000
EiERE 239, 358
Z O R i 11,375,000 x 53.85% ( 35% + (1 — 35%) ) 6. 125,437
KB 11,614,358 + 6,125,437 17,739, 795
—REEES 17,739,795 x 53.85% ( 35% + (1 — 35%) ) — 2,674 9,550, 205
el 17,739,795 + 9,550, 205 27, 290, 000
HEREELE 27,290,000 x 10.00% 2,729, 000
RBZH 27,290,000 + 2,729,000 30, 019, 000




BENRE KIS LA R A SIS (C1 )R T ERE R
% ) s - R TR B # 2 f & % # =
EER 11, 614, 358
Bim s E R %75 11, 614, 358
BiRFTERAES 11, 614, 358
BB RET R 11,375, 000
SRR 319, 900
1 StE#ER 1.00 319, 900 319, 900
=
BRI ERE 762, 800
2 ERNEEE 1.00 762, 800 762, 800
=
EiRstE 6, 368, 700
3 i i 2 E DR AR DR ET 1.00 1,731, 000 1,731,000
ey
4 PEREEERERFER EmERE R 1.00 2, 459, 000 2, 459, 000
st -
X
5 BIRFTEID KA 1.00 2,178, 700 2,178,700




BERRE AIRA I AR RS2 (C12)BBHERHEE

B RME R 3, 082, 500

6 WEERMER 1.00 765, 600 765, 600
=

T HEHE 1.00 740, 200 740, 200
=

SHMEIZZEDHEH 1.00 442, 400 442, 400
=

9 HmEER 1.00 1,134, 300 1,134, 300
=

s - |ME 439, 200

10 % - | 1.00 439, 200 439, 200
=

R 401, 900

11 EBTRBEEER 1.00 401, 900 401, 900
=

EEEE 239, 358

EBRRE 109, 358

12 EBHAME 1.00 109, 358 109, 358
=

R 130, 000

13 ¥BHRR 1.00 130, 000 130, 000
=




RIER -/ Svr— RIS LSRR A SIS i (C1) B EREH 25

&5 :1
¥ EHE 1LY
£ 5 A& - RAKTiR B H 2 B @ & # B & &
FAEHER (F%E)
X 1.50 58, 600. 00 87, 900
BEm (A)
A 2.50 51, 200. 00 128, 000
HER (B)
A 2.50 41, 600. 00 104, 000
& &t E%4EH : 1.00K 319, 900. 00 319, 900
&5 :2
& BRINERE IEE1D)
% b3 1RAE - BAKTiR By H = B @ & # B & &
FAEHED (F%E)
A 2.00 58, 600. 00 117, 200
BEm (A)
A 5.00 51, 200. 00 256, 000
HER (B)
A 5.00 41, 600. 00 208, 000
HER (C)
A 2.00 32, 800. 00 65, 600
K&
A 4.00 29, 000. 00 116, 000
& E%4EH : 1.00K 762, 800. 00 762, 800
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5 :3
%5 iR EOMEEDOBRET IEE1D)
% 5 A& - RAKTiR B H 2 B @ & # B & &
FAEHER (F%E)
X 5.00 58, 600. 00 293, 000
BEm (A)
A 10. 50 51, 200. 00 537, 600
HER (B)
A 10. 00 41, 600. 00 416, 000
BEm (C)
A 13.00 32, 800. 00 426, 400
K&
A 2.00 29, 000. 00 58, 000
& E%4EH : 1.00 1, 731, 000. 00 1,731, 000
&5 : 4
&F5 : FEEEEEFREX -EmEERBEO®KRE 1XHY
£ 5 1R - AKTR By H = B O{f & # B & &
FAEHER (F%E)
A 9.00 58, 600. 00 527, 400
HER (A)
A 14.50 51, 200. 00 742, 400
HER (B)
A 11.00 41, 600. 00 457, 600
HER (C)
A 17.00 32, 800. 00 557, 600
B8
A 6.00 29, 000. 00 174, 000
& fE%4EH : 1.00K 2, 459, 000. 00 2, 459, 000
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&5 :5
&% BiEstEoREt IEE1D)
£ 5 A& - RAKTiR B H 2 B @ & # & &
FAEHER (F%E)
X 8.50 58, 600. 00 498, 100
BEm (A)
A 12.00 51, 200. 00 614, 400
HER (B)
A 12.50 41, 600. 00 520, 000
BEm (C)
A 14.00 32, 800. 00 459, 200
K&
A 3.00 29, 000. 00 87, 000
& E%4EH : 1.00 2,178, 700. 00 2,178, 700
ES5:6
2 BEEEHIER 1XHY
£ 5 1R - AKTR By H = B O{f & # & &
FAEHER (F%E)
A 3.00 58, 600. 00 175, 800
HER (A)
A 4.50 51, 200. 00 230, 400
HER (B)
A 3.00 41, 600. 00 124, 800
HER (C)
A 4.50 32, 800. 00 147, 600
B8
A 3.00 29, 000. 00 87, 000
& fE%4EH : 1.00K 765, 600. 00 765, 600
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KRB AR AS EEH (C12)BHEERETES

&5 .1
&% EHE 1X5Y
% g R - IRt B = B @ ® B " %
BER (B)
A 2.00 41, 600. 00 83, 200
BER (C)
A 5.00 32, 800. 00 164, 000
Bt &
A 17.00 29, 000. 00 493, 000
C Yeg8eH 1. 00K 740, 200. 00 740, 200
=:8
2% MEIEEOHEL IEE D)
% L3 A& - IRt B = B {f ® B " %
BER (A)
A 3.00 51, 200. 00 153, 600
BEm (B)
A 3.00 41, 600. 00 124, 800
BER (C)
A 5.00 32, 800. 00 164, 000
& & 1E%AES : 1. 00K 442, 400. 00 442, 400
=:9
£ HEER 1X5Y
% 7 B - IRt B = B {f ® B " &
BER (B)
& 3.00 41, 600. 00 124, 800
ER (C)
A 10. 00 32, 800. 00 328, 000
Bifi &
A 23.50 29, 000. 00 681, 500
& t Yeg8eH 1. 00K 1, 134, 300. 00 1,134,300
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KRB AR AS EEH (C12)BHEERETES

E&=:10
%5 & - |mE 1KLY
2 b B - IR I=-Liv] = B i ® 5 " =
EXE21TICH))
A 4.00 58, 600. 00 234, 400
e (A)
A 4.00 51, 200. 00 204, 800
& &t 1EZ8EA - 1.00X 439, 200. 00 439, 200
&= 11
¥ EHTERBEEER 1KLY
2 b B - BIKTE ==L iv] = B i ® 5 " =
F(EHRAR (F%ET)
A 1.50 58, 600. 00 87,900
e (A)
A 2.50 51, 200. 00 128, 000
Em (B)
A 2.50 41, 600. 00 104, 000
Em (C)
A 2.50 32, 800. 00 82, 000
& it 1EZ5EA - 1.00X 401, 900. 00 401, 900
&S 12
&% EHARE 1KLY
2 b I - KT B = B ff ® 5 " =
EXARE
= 1.00 109, 358. 00 109, 358
& it 1EZ5EA - 1.00X 109, 358. 00 109, 358
&= 13
&% EBRERS 1KLY
2 b I - KT B = B ff ® 5 " =
XBHERERE
= 1.00 130, 000. 00 130, 000
& it 1EZ5EA - 1.00X 130, 000. 00 130, 000




